



Available online at <http://scik.org>

J. Math. Comput. Sci. 11 (2021), No. 2, 2047-2057

<https://doi.org/10.28919/jmcs/5472>

ISSN: 1927-5307

f_q -DERIVATIONS OF B-ALGEBRAS

PATCHARA MUANGKARN¹, CHOLATIS SUANOOM¹, PONCHITA PENGYIM¹, AIYARED IAMPAN^{2,3,*}

¹Program of Mathematics, Faculty of Science and Technology, Kamphaeng Phet Rajabhat University,
Kamphaeng Phet 62000, Thailand

²Department of Mathematics, School of Science, University of Phayao, Mae Ka, Phayao 56000, Thailand

³Unit of Excellence in Mathematics, University of Phayao, Phayao 56000, Thailand

Copyright © 2021 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. Let $X = (X, *, 0)$ be a B-algebra and f a self-map on X . We study some properties of X for the self-map d_q^f is an outside and inside f_q -derivation of X , respectively, as follows:

$$(\forall x, y \in X)(d_q^f(x * y) = f(x) * d_q^f(y)),$$

$$(\forall x, y \in X)(d_q^f(x * y) = d_q^f(x) * f(y)).$$

In addition, we define and study some properties of (right-left) and (left-right) f_q -derivation of X , respectively, as follows:

$$(\forall x, y \in X)(d_q^f(x * y) = (f(x) * d_q^f(y)) \wedge (d_q^f(x) * f(y))),$$

$$(\forall x, y \in X)(d_q^f(x * y) = (d_q^f(x) * f(y)) \wedge (f(x) * d_q^f(y))).$$

Keywords: B-algebra; f_q -derivation; outside and inside f_q -derivation; (left-right); (right-left) f_q -derivation.

2010 AMS Subject Classification: 06F35, 03G25.

*Corresponding author

E-mail address: aiyared.ia@up.ac.th

Received January 22, 2021

1. INTRODUCTION AND PRELIMINARIES

In 1966, Iséki [8] introduced the class of BCI-algebras as follows:

Definition 1.1. Let X be a non-empty set with a binary operation $*$ and a constant 0 in X . An algebra $X = (X, *, 0)$ is called a *BCI-algebra* if it satisfies the following axioms:

- (BCI1) $(\forall x \in X)(x * x = 0)$,
- (BCI2) $(\forall x, y, z \in X)((x * y) * (x * z)) * (z * y) = 0$,
- (BCI3) $(\forall x, y \in X)(x * y = 0, y * x = 0 \Rightarrow x = y)$,
- (BCI4) $(\forall x, y \in X)((x * (x * y)) * y = 0)$.

In any BCI-algebra X , the following property holds:

- (BCI5) $(\forall x \in X)(x * 0 = x)$.

In 1983, Hu and Li [6] introduced a new class of algebras so-called a BCH-algebra. They proved that the class of BCI-algebras is a proper subclass of BCH-algebras and studied some properties of this algebra.

Definition 1.2. A *BCH-algebra* is an algebra $X = (X, *, 0)$ satisfying the following axioms:

- (BCH1) $(\forall x \in X)(x * x = 0)$,
- (BCH2) $(\forall x \in X)(x * 0 = x)$,
- (BCH3) $(\forall x, y \in X)(x * y = 0, y * x = 0 \Rightarrow x = y)$.

Next, Bandru and Rafi [5] introduced a new notion, called G-algebra. This notion played an important role in algebra and many applications as follows:

Definition 1.3. A *G-algebra* is an algebra $X = (X, *, 0)$ satisfying the following axioms:

- (G1) $(\forall x \in X)(x * x = 0)$,
- (G2) $(\forall x, y \in X)(x * (x * y) = y)$.

In 2002, Neggers and Kim [11] introduced a new algebraic structure, they took some properties from BCI and BCH-algebras, called B-algebra.

Definition 1.4. A *B-algebra* is an algebra $X = (X, *, 0)$ satisfying the following axioms:

- (B1) $(\forall x \in X)(x * x = 0)$,

(B2) $(\forall x \in X)(x * 0 = x)$,

(B3) $(\forall x, y, z \in X)((x * y) * z = x * (z * (0 * y)))$.

Example 1.5. Let $X = \{0, 1, 2, 3\}$ with the Cayley table (Table 1) as follows:

*	0	1	2	3
0	0	2	1	3
1	1	0	3	2
2	2	3	0	1
3	3	1	2	0

Table 1

Then $X = (X, *, 0)$ is a B-algebra.

Theorem 1.6. [11] *If $X = (X, *, 0)$ is a B-algebra, then:*

(B4) $(\forall x, y \in X)((x * y) * (0 * y) = x)$,

(B5) $(\forall x, y, z \in X)(x * (y * z) = (x * (0 * z)) * y)$,

(B6) $(\forall x, y \in X)(x * y = 0 \Rightarrow x = y)$,

(B7) $(\forall x \in X)(0 * (0 * x) = x)$,

(B8) $(\forall x, y, z \in X)(x * z = y * z \Rightarrow x = y)$ (*right cancelation law*),

(B9) $(\forall x, y, z \in X)(z * x = z * y \Rightarrow x = y)$ (*left cancelation law*).

Theorem 1.7. [11] *An algebra $X = (X, *, 0)$ is a B-algebra if and only if it satisfies the following axioms:*

(B10) $(\forall x \in X)(x * x = 0)$,

(B11) $(\forall x \in X)(0 * (0 * x) = x)$,

(B12) $(\forall x, y, z \in X)((x * z) * (y * z) = x * y)$,

(B13) $(\forall x, y \in X)(0 * (x * y) = y * x)$.

Definition 1.8. [10] A B-algebra $X = (X, *, 0)$ is said to be *0-commutative* if it satisfies the following axioms:

$$(\forall x, y \in X)(x * (0 * y) = y * (0 * x)).$$

Example 1.9. In Example 1.5, we have $X = (X, *, 0)$ is a 0-commutative B-algebra.

Theorem 1.10. [10] *If $X = (X, *, 0)$ is a 0-commutative B-algebra, then:*

$$(B14) (\forall x, y \in X)((0 * x) * (0 * y) = y * x),$$

$$(B15) (\forall x, y, z \in X)((z * y) * (z * x) = x * y),$$

$$(B16) (\forall x, y, z \in X)((x * y) * z = (x * z) * y),$$

$$(B17) (\forall x, y \in X)((x * (x * y)) * y = 0),$$

$$(B18) (\forall x, y, z, t \in X)((x * z) * (y * t) = (t * z) * (y * x)),$$

$$(B19) (\forall x, y, z \in X)((x * y) * z = x * (y * z)),$$

$$(B20) (\forall x, y \in X)(x * (x * y) = y).$$

For a B-algebra $X = (X, *, 0)$, we denote $x \wedge y = y * (y * x)$ for all $x, y \in X$.

Definition 1.11. [2, 9] A self-map d on a B-algebra $X = (X, *, 0)$ is called

(1) a *(left-right)-derivation* ((l, r) -derivation, in short) of X if

$$(\forall x, y \in X)(d(x * y) = (d(x) * y) \wedge (x * d(y))),$$

(2) a *(right-left)-derivation* ((r, l) -derivation, in short) of X if

$$(\forall x, y \in X)(d(x * y) = (x * d(y)) \wedge (d(x) * y)),$$

(3) a *derivation* of X if it is both an (l, r) and an (r, l) -derivation of X .

Definition 1.12. [2, 7, 9, 13] A self-map d on a B-algebra $X = (X, *, 0)$ is said to be *regular* if $d(0) = 0$; otherwise, d is said to be *irregular*.

Example 1.13. [2, 9] In Example 1.5, we define a self-map d on X by:

$$d(x) = \begin{cases} 0 & \text{if } x = 0 \\ 2 & \text{otherwise.} \end{cases}$$

Then d is regular.

Example 1.14. [2, 9] In Example 1.5, we define a self-map d on X by:

$$d(x) = \begin{cases} 3 & \text{if } x = 0 \\ 2 & \text{if } x = 1 \\ 1 & \text{if } x = 2 \\ 0 & \text{if } x = 3. \end{cases}$$

Then d is a derivation of X , and we see that d is irregular.

Definition 1.15. A self-map f on a B-algebra $X = (X, *, 0)$ is called an *endomorphism* if

$$(\forall x, y \in X)(f(x * y) = f(x) * f(y)).$$

Definition 1.16. [3] Let f be an endomorphism of a B-algebra $X = (X, *, 0)$. A self-map d on X is called

(1) a *(left-right)-f-derivation* ((l, r) - f -derivation, in short) of X if

$$(\forall x, y \in X)(d(x * y) = (d(x) * f(y)) \wedge (f(x) * d(y))),$$

(2) a *(right-left)-f-derivation* ((r, l) - f -derivation, in short) of X if

$$(\forall x, y \in X)(d(x * y) = (f(x) * d(y)) \wedge (d(x) * f(y))),$$

(3) an *f-derivation* of X if it is both an (l, r) and an (r, l) - f -derivation of X .

Note that if f is the identity map on a B-algebra $X = (X, *, 0)$, then every f -derivation of X is a derivation.

Let f be an endomorphism of a B-algebra $X = (X, *, 0)$ and $q \in X$. The self-map d_q^f on X is defined by

$$(\forall x \in X)(d_q^f(x) = f(x) * q).$$

We note that $d_0^f = f$; indeed, $d_0^f(x) = f(x) * 0 = f(x)$ for all $x \in X$.

Definition 1.17. [1] Let f be an endomorphism of a B-algebra $X = (X, *, 0)$. A self-map d_q^f on X is called

(1) an *outside f_q -derivation* of X if

$$(\forall x, y \in X)(d_q^f(x * y) = f(x) * d_q^f(y)),$$

(2) an *inside f_q -derivation* of X if

$$(\forall x, y \in X)(d_q^f(x * y) = d_q^f(x) * f(y)),$$

(3) an *f_q -derivation* of X if it is both an outside and inside f_q -derivation of X .

Next, we introduce a new concept of a (left-right) and a (right-left) f_q -derivation by the concept of [1, 4] as follows:

Definition 1.18. Let f be an endomorphism of a B-algebra $X = (X, *, 0)$. A self-map d_q^f on X is called

(1) an *(left-right) f_q -derivation* of X if

$$(\forall x, y \in X)(d_q^f(x * y) = (d_q^f(x) * f(y)) \wedge (f(x) * d_q^f(y))),$$

(2) an *(right-left) f_q -derivation* of X if

$$(\forall x, y \in X)(d_q^f(x * y) = (f(x) * d_q^f(y)) \wedge (d_q^f(x) * f(y))).$$

Moreover, we present some examples to illustrate and support our results.

Example 1.19. Let $X = \{0, 1, 2\}$ with the Cayley table (Table 2) as follows:

*	0	1	2
0	0	1	2
1	1	0	2
2	2	1	0

Table 2

Then $X = (X, *, 0)$ is a B-algebra. Define an endomorphism $f : X \rightarrow X$ by

$$x \mapsto \begin{cases} 0 & \text{if } x = 0, \\ 2 & \text{if } x = 1, \\ 1 & \text{if } x = 2. \end{cases}$$

Then d_0^f is a (left-right) and a (right-left) f_q -derivation of X but d_2^f is not a (left-right) f_q -derivation or a (right-left) f_q -derivation of X . Indeed, $d_2^f(1 * 2) = 2 \neq 0 = (d_2^f(1) * f(2)) \wedge (f(1) * d_2^f(2))$ and $d_2^f(1 * 2) = 2 \neq 1 = (f(1) * d_2^f(2)) \wedge (d_2^f(1) * f(2)) = 1$.

2. MAIN RESULTS

In this section, our main results are divided into two parts as follows: 1. Outside and inside f_q -derivations, and 2. (Left-right) and (right-left) f_q -derivations.

From now on, we shall let X be a B-algebra $X = (X, *, 0)$.

2.1. Outside and inside f_q -derivations.

Theorem 2.1. d_0^f is an f_q -derivation of X .

Proof. Let $x, y \in X$. Then

$$(2.1) \quad d_0^f(x * y) = (f(x * y)) * 0 = (f(x) * f(y)) * 0 = f(x) * f(y).$$

$$(2.2) \quad f(x) * d_0^f(y) = f(x) * (f(y) * (0)) = f(x) * f(y).$$

$$(2.3) \quad d_0^f(x) * f(y) = (f(x) * 0) * f(y) = f(x) * f(y).$$

By (2.1), (2.2) and (2.3), we get $f(x) * d_0^f(y) = d_0^f(x * y) = d_0^f(x) * f(y)$. Hence, d_0^f is an f_q -derivation of X . □

Theorem 2.2. If X is an associative B-algebra, then d_q^f is an outside f_q -derivation of X for all $q \in X$.

Proof. Let $q, x, y \in X$. Then

$$\begin{aligned} d_q^f(x * y) &= f(x * y) * q \\ &= (f(x) * f(y)) * q \\ \text{(associative law)} \quad &= f(x) * (f(y) * q) \\ &= f(x) * d_q^f(y). \end{aligned}$$

Hence, d_q^f is an outside f_q -derivation of X . □

Proposition 2.3. If X is a medial B-algebra, then d_q^f is an inside f_q -derivation of X for all $q \in X$.

Proof. Let $q, x, y \in X$. Then

$$\begin{aligned}
 d_q^f(x * y) &= f(x * y) * q \\
 &= (f(x) * f(y)) * q \\
 \text{(medial law)} \quad &= (f(x) * q) * f(y) \\
 &= d_q^f(x) * f(y).
 \end{aligned}$$

Hence, d_q^f is an inside f_q -derivation of X . □

Corollary 2.4. *If X is an associative medial B -algebra, then d_q^f is an f_q -derivation of X for all $q \in X$.*

Proof. It is straightforward by Propositions 2.2 and 2.3. □

Theorem 2.5. *If d_q^f is an outside (resp., inside) f_q -derivation of X , then $d_q^f(0) = f(x) * d_q^f(x)$ (resp., $d_q^f(0) = d_q^f(x) * f(x)$) for all $x \in X$.*

Proof. We obtain the results from (B1). □

Theorem 2.6. *Let X be a medial B -algebra. If d_q^f is an outside f_q -derivation of X , then d_q^f is an f_q -derivation of X .*

Proof. It is straightforward by Proposition 2.3. □

Theorem 2.7. *Let X be an associative B -algebra. If d_q^f is an inside f_q -derivation of X , then d_q^f is an f_q -derivation of X .*

Proof. It is straightforward by Proposition 2.4. □

Theorem 2.8. *If d_q^f is a regular inside (outside) f_q -derivation of X , then $d_q^f = f$.*

Proof. Let $x \in X$. By (B1), we have $0 = d_q^f(0) = d_q^f(x * x) = d_q^f(x) * f(x)$. By (B6), we have $d_q^f(x) = f(x)$ for all $x \in X$, that is, $d_q^f = f$. □

2.2. (Left-right) and (right-left) f_q -derivations.

Theorem 2.9. If d_q^f is an (l, r) - f_q -derivation of X , then

$$(\forall x \in X)(d_q^f(0) = d_q^f(x) * f(x)).$$

Moreover, if X is 0-commutative, then

$$(\forall x \in X)(d_q^f(0) = d_q^f(x) * f(x) = 0 * q).$$

Proof. Let $x \in X$. Then

$$\begin{aligned} \text{(B1)} \quad d_q^f(0) &= d_q^f(x * x) \\ &= (d_q^f(x) * f(x)) \wedge (f(x) * d_q^f(x)) \\ &= (f(x) * d_q^f(x)) * ((f(x) * d_q^f(x)) * (d_q^f(x) * f(x))) \\ \text{(B5)} \quad &= ((f(x) * d_q^f(x)) * (0 * (d_q^f(x) * f(x)))) * (f(x) * d_q^f(x)) \\ \text{(B13)} \quad &= ((f(x) * d_q^f(x)) * (f(x) * d_q^f(x))) * (f(x) * d_q^f(x)) \\ \text{(B1)} \quad &= 0 * (f(x) * d_q^f(x)) \\ \text{(B13)} \quad &= d_q^f(x) * f(x) \\ &= (f(x) * q) * f(x) \\ \text{(B16)} \quad &= (f(x) * f(x)) * q \\ \text{(B1)} \quad &= 0 * q. \end{aligned}$$

Hence, $d_q^f(0) = d_q^f(x) * f(x) = 0 * q$ for all $x \in X$. □

Theorem 2.10. If d_q^f is an (r, l) - f_q -derivation of X , then

$$(\forall x \in X)(d_q^f(0) = f(x) * d_q^f(x)).$$

Moreover, if X is 0-commutative, then

$$(\forall x \in X)(d_q^f(0) = f(x) * d_q^f(x) = q).$$

Proof. Let $x \in X$. Then

$$\begin{aligned}
 ((B1)) \quad d_q^f(0) &= d_q^f(x * x) \\
 &= (f(x) * d_q^f(x)) \wedge (d_q^f(x) * f(x)) \\
 &= (d_q^f(x) * f(x)) * ((d_q^f(x) * f(x)) * (f(x) * d_q^f(x))) \\
 ((B5)) \quad &= ((d_q^f(x) * f(x)) * (0 * (f(x) * d_q^f(x)))) * (d_q^f(x) * f(x)) \\
 ((B13)) \quad &= ((d_q^f(x) * f(x)) * (d_q^f(x) * f(x))) * (d_q^f(x) * f(x)) \\
 ((B1)) \quad &= 0 * (d_q^f(x) * f(x)) \\
 ((B13)) \quad &= f(x) * d_q^f(x) \\
 &= f(x) * (f(x) * q) \\
 ((B20)) \quad &= q.
 \end{aligned}$$

Hence, $d_q^f(0) = f(x) * d_q^f(x) = q$ for all $x \in X$. □

Theorem 2.11. *If d_q^f is an (l, r) - f_q -derivation ((r, l) - f_q -derivation) of X , then:*

- (1) d_q^f is injective if and only if f is injective,
- (2) if d_q^f is regular, then $d_q^f = f$,
- (3) if there is an element $x_0 \in X$ such that $d_q^f(x_0) = f(x_0)$, then $d_q^f = f$.

Proof. (1) Suppose that d_q^f is injective and let $x, y \in X$ be such that $f(x) = f(y)$. By Theorem 2.9, we have $d_q^f(y) * f(y) = d_q^f(0) = d_q^f(x) * f(x) = d_q^f(x) * f(y)$. By (B8), we have $d_q^f(x) = d_q^f(y)$. Hence, $x = y$ because d_q^f is injective, so f is injective.

Conversely, suppose that f is injective and let $x, y \in X$ be such that $d_q^f(x) = d_q^f(y)$. By Theorem 2.9, we have $d_q^f(y) * f(y) = d_q^f(0) = d_q^f(x) * f(x) = d_q^f(y) * f(x)$. By (B9), we have $f(x) = f(y)$. Hence, $x = y$ because f is injective, so d_q^f is injective.

(2) Suppose that d_q^f is regular and let $x \in X$. By Theorem 2.9, we have $0 = d_q^f(0) = d_q^f(x) * f(x)$. By (B6), we have $d_q^f(x) = f(x)$ for all $x \in X$, that is, $d_q^f = f$.

(3) Suppose that there is an element $x_0 \in X$ such that $d_q^f(x_0) = f(x_0)$. By (B1) and Theorem 2.9, we have $d_q^f(0) = d_q^f(x_0) * f(x_0) = 0$. Thus d_q^f is regular. It follows from (2) that $d_q^f = f$.

Similarly, if d_q^f is an (r, l) - f_q -derivation of X , the proof follows by Theorem 2.10. □

3. CONCLUSION AND DISCUSSION

In this paper, we have introduced the concept of a (left-right) and a (right-left) f_q -derivation of B-algebras and some properties are provided. Moreover, we also get the results related to 0-commutative B-algebras and regular (l, r) - f_q -derivation ((r, l) - f_q -derivation) of B-algebras.

ACKNOWLEDGEMENTS

The authors would like to thanks the anonymous referee who provided useful and detailed comments on a previous/earlier version of the manuscript. The authors would like to thanks the Science and Applied Science Center, Kamphaeng Phet Rajabhat University.

CONFLICT OF INTERESTS

The author(s) declare that there is no conflict of interests.

REFERENCES

- [1] D. Al-Kadi, f_q -Derivations of G-Algebra, Int. J. Math. Comput. Sci. 2016 (2016), 9276096.
- [2] N.O. Al-Shehrie, Derivation of B-algebras, J. King Abdulaziz Univ.: Sci. 22(1) (2010), 71-83.
- [3] L.K. Ardekani, B. Davvaz, f -derivations and (f, g) -derivations of MV-algebras, J. Algebr. Syst. 1(1) (2013), 11-31.
- [4] L.K. Ardekani, B. Davvaz, On (f, g) -derivations of B-algebras, Mat. Vesnik. 66(2) (2014), 125-132.
- [5] R.K. Bandru, N. Rafi, On G-algebras, Sci. Magna. 8(3) (2012), 1-7.
- [6] Q.P. Hu, X. Li, On BCH-algebras, Math. Seminar Notes. 11(2) (1983), 313-320.
- [7] A. Iampan, Derivations of UP-algebras by means of UP-endomorphisms, Algebr. Struc. Appl. 3(2) (2016), 1-20.
- [8] K. Iséki, An algebra related with a propositional calculus, Proc. Japan Acad. 42(1) (1966), 26-29.
- [9] Y.B. Jun, X.L. Xin, On derivations of BCI-algebras, Inform. Sci. 159 (2004), 167-176.
- [10] H.S. Kim, H.G. Park, On 0-commutative B-algebras, Sci. Math. Japonica Online. e-2005 (2005), 31-36.
- [11] J. Neggers, H.S. Kim, On B-algebras, Mat. Vesnik. 54 (2002), 21-29.
- [12] C. Prabpayak, U. Leerawat, On derivations of BCC-algebras, Kasetsart J. (Nat. Sci.) 43 (2009), 398-401.
- [13] K. Sawika, R. Intasan, A. Kaewwasri, A. Iampan, Derivations of UP-algebras, Korean J. Math. 24(3) (2016), 345-367.